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Note: Time increases downwards. Scales OK for last curve (bottom black)

1207

o
©

40

[s/wx] Ayoojen sob

14.5

13.5

o o
© <+

[s/wx] Ayoojen sob

o
89

o

o
~
|

14.0

log r [em]

log r [em]

log r [em]

log r [em]

|
w0 o 0 o n ['s] ~ L] o™~ - o o o o o
, T T 6 S 8 8 8
| | os1bep uojjosuspuod 3 3 ? I
[;wo/B] Aususp boj [54] 508
L TTTTTT T T T[T T rTTITITT 7 TTTTTTTTT 7 TTTTTT T T T[T T T rTIrrTT
\\\ 4
%
/7 1
0
- 1<
B i 1 €
A O
- O
o Yo
o o
i
0
r e}
y )
““““ 1 T AR 7
o e b e b IS R TR N
0 ~+ o) o~ — S} o o o o
6 3 3 IS 3
@a.bap uoj1DSUBPUOD 2 2 ? IS
[;wo/B] Ansusp boj [54] 506

log r [em]

log r [em]



